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(Prob. & Prob. Distribution)
(New Course)

Time : 2% Hours] [Total Marks : 70

qadl : (1) sl o wal srAld V.
() el cuy el suldd 8.

1 (2) ogudly saoin A RS AsAGH A, vaRie-l 10
IRIYMl RlLd).
() Al A 3 - 0

(1) M23 731 512 = b123 ba31 b312

by —bi3 b3

1=by3 b3y

(k) biaz=

eql
() wka A3 0

b3 b1b31p
by13 b321 B13.0

(2) (1— r123.2) (1— rlzz) =1-Rin3

(e) <A sl urell x, =75 213 x3=80 & AR x4l 10
Bude suomein s,

YIZSO 6124 1’1220.4
f2=60 62 =5 7‘13 205
Y:; =80 63 =7 7‘23 =O6
2 () Gelewl gl AL uel AHMA) : 0

(1) wzl@s aa
(2) dl se-ud
(3) dewa-i Rdw
(¢) ASwD (an
JBA-16080002030405 ] 1 [ Contd...



(o) 2153523 F| 2,000 da@ild Geulert 53 . Aniell eoviflaell 10
8. olw 352l F, 3,000 dxgaild Gauled s 8. duiddl €0
vHlalell 6 e Al 352l 15 ¥,000 drgaild Gauled s 6.

adigl g0 vuHladll ©. i o]l axgala ws A ¢l
AVl 2d 9. dnigl ug%9 Ad dAsl uwued(l sl 24

8 2 o vie{lawell HA 8 dl d 352 F Hiddl Gauleld 4 €y
a-l Aeila-l sedl ?
w2l
2 () nalid dddigRur wMd sA 3 0
(q) E(x+)0=ZNxY+E(y)
(2) ‘E(xy):aE(x)nE(y)

() 215 2iAdd U9 A x+f Al Rael 1Ay © ¢ 10

X 2 1-110 1] 2
p(x): 02|k [03]|3k |01

(1 &, R) E(2x+3), (3) r(2x-3) WAl

3 () [2ugl [dzeil Hos 19 el And).

(o) (Al Hlecl uell v e sieaiilo $30 21k 9
gl ol

X: 0 11211314
f1122 160 (15]2 |1

(705 — 0.6065)
Al
3 () wel Rugl Rdeir Ryl 219 Gualo)l el
(0) 92 lsialll A4sul ¥ doye ©. o 4229 Ad ddifl v o

AFal Al 21d dl (1) & dayde aidl, (*) ayui ay
8 Aoyyie dlai-l Al k).

¥ () ey Raes oyl »a Gualel oeudl.
(o) sy [dReld wald s @A o). o
Al
¥ (2) p wAdwn AL Rdel qes i e ).

() oflar [ael uxmAl. o
JBA-16080002030405 ] 2 [ Contd...



ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Marks are indicate on the right side.

1 (@
(b)
1 (@
(b)
2 (a
(b)

Explain multiple correlation and partial correlation. 10

State properties of residual.
Prove that :

1) N2z M3 K12 =b123 0231 5312
_bhp—b3by
1=by3 b3y
OR

@ biz=

Prove that :

W b3 b1b31p
by1:3 D321 bi3.2

@ (1 - F123-2) (1 - rlzz) =1-Ri»3

For the following data, estimate the value of x;

when x, =75 and x3=280.

YIZSO 6124 1’1220.4
f2=60 62 =5 7‘13 =0.5
Y:; =80 63 =7 7‘23 =0.6

Explain the following terms with illustration :
(1) Random variable

(2) Conditional events

(3) Probabilities distribution

(4) Baye's rule.

10

10

10

One factory Fq produces 2000 articles, 60 of them being 10

defectives. Second factory /5 produces 3,000 articles.

60 of them being defective and third factory

I

produces 4,000 articles, 160 of them being defectives.
All these articles are put one stockpile, one of them
is chosen at random and it is found to be defective.

What is the probability that it is from factory F5?

OR
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(b)

(b)

(b)

(b)

4 (a)

(b)

In usual notations prove that
1) E(x+y)=EX)+E(y)
@) E(xy)=E(x)-E(y)

A discrete r.v.x has the following prob. distribution :

X 2 1-110 1] 2
p(x): 02|k [03]|3k |01

Find (1) k, ) E(2x+3), B) V(2x=3)

Obtain mean and variance of binomial distribution.

Fit the poisson distribution to the following data
and find the expected frequencies :

x:1 01112134
f1122 160 (15]2 |1

(6795 = 0.6065)
OR

State properties and uses of negative binomial
distribution.

In a group of 12 persons, 4 persons are graduate.
If 5 persons are taken at random from it. Find the prob.
of (1) two are graduates (2) at most two are graduates.

State properties and uses of normal distribution.

Obtain moment generating function of normal
distribution.

OR

Find mean and variance of Gamma distribution with

parameter p ?

Explain Beta distributions.

10

10
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